A LS GH25BIHR)

i fil o % 3 ﬁ am
FRBYGT (LF) WMEE i * .
E E E E E Ve ]

[ st " 2 B IEE R 2 AR R MR s St e
[ O OB I ME M N
s JE R

R T N=13t

LR MRS N=130

RN e N=13t

7 H i P EES % ] 25 1 AW
& T 4
F AT 5 T % e A
% e i I
WO R BT X % & G M
W% B M 4 s
% B ®
5O T W fli K% EOE K % IR

ERER = STRAEE < Wt (g G L
25 FRNGE S AT AR B I Tk
oI TR TR




NERE

28)IEEIEBER T £t #isERERE No.1
Z B I iE 2 Al #H B = B {1 =i 28 i3
EiEE
HEHESEE
A—1
B KRE &2 11,000.00, m 5,500m x 2[A]
A—2
NRNH AN KBRENIES5cm) |F2[E] 7,600.000 m 3,800m x 2[A]
A—3
ANBRE F2[A] 1,000.00, m 500m X 2[a]
A—4
B ADIE <HE 126.00] &
THEMMMSEE
| c—1
CTHEBIE(AD >|1 F£1[A] 2,000.000 m
Cc—1
CTHEBIE(AD )|2 F£1[A] 3,800.000 m
c—2
z_&._rf,%ﬁﬁllﬁﬂﬁl F2[m 11,600.00, m 5,800m x 2[A]
c—-3
NRNH AN KBRENIES5cm) |FE3[E 14,400.00) m 4,800 X 3[H]
c—4
B KRE F£3H 3,000.000 m 1,000 X 3[H]




2H)IIEEHEBER B HIFEERBER

NERE

No.2
# H I iE 2 Al #H B = B {1 =i 28 i3
THEBEER
D—1
THMEE 240.000 m 120m X 2[]
EEEET
HERE
E TR
HERE LA

$BEIEH




g A-1 B

BEREIREX) RE. X, HAH-E 1,000.0 m  HY

Z2 ROO® 8 ¥ L 2Rivi B ff % ]
T AR—ARHEER A
WREES A
TREXS A
BEXS A
BN Bz - hy4—1E255mm =|

¥B—15 SR
299 ERE-EREE2tE h
EME 1.00[ =
nnE M E kg
&t

—Hfuhi=Y




T A—2 B

BWHBRET (WA X+BHN)RE, £5. HdH - E 1,000.0 m  HfY
Z2 ROO® 8 ¥ L 2Rivi B ff % ]
T AR—ARHEER A
WREES A
TREXS A
BEXS A
BN Bz - hy4—1E255mm A
B4 NURHAE R - /35 % B - XIE95em =
EB—155R
N TR -EREEFUE h
EME 1.00[ =
nnE M E kg
&t

—Hfuhi=Y




£ A—3 B

ANHOBRE 100.0 m  Hi=Y
£ E) B’ % B # =-Xiva B ) B =
BiEEB A
£B—-1535M1
cSwo TER-EHEE21E h
nonE NE kg
HME 1.000 =
&t

—Hfuhi=Y




B A—4 B

BABEE <UFx 10.0 X Hf=Y
£ E) B’ % B ¥ ==X ] B & % i
EET A
LEEER A
£B—155H
Sy oiEER LER-EEHES2t1E h
noE Kg
HME 1.000 =

ol
—

—Hfuhi=Y




g B—1 &
covOEER 2t 1.0 B H1=Y
£ L7 R B ¥ B{ B ) i
FERE 8H Yy bl
— A% EELF A
covo h
&t

—Hfuhi=Y




T C—1 &
ZCHEERR (AN A) 100.0 m  Hi=Y
£ E) B’ % B ¥ =-Xiva B L] i
EET A
TEEXE A
ZAEBIEE 60g/m
AE ARIERER 515 6.00] kg
&t

—Hfuhi=Y




< ERREHIERA 1,000.0 m  Hi=Y
£ E) B’ % B ¥ =-Xiva B i L] i
TV B
BREE 2501 & IR 4.00( yhl
A a7y EE
1" 1250f= & R 0.80] Yyhl
EET A
TEEXE A
FE—155H
Sy oEER LTai-EHEEFAUE h
HME 1.000 =

|

—Hfuhi=Y




£ Cc—3 B

BWHBRET (WA X+BHN)RE, £5. HdH - E 1,000.0 m  HfY
Z2 ROO® 8 ¥ L 2Rivi B ff % ]
T AR—ARHEER A
WREES A
TREXS A
BEXS A
BN Bz - hy4—1E255mm A
B4 NURHAE R - /35 % B - XIE95em =
FE-15SR
N TR -EREEFUE h
EME 1.00[ =
nnE M E kg
&t

—Hfuhi=Y




T C—4 5

BEREIREX) RE. X, HAH-E 1,000.0 m  HY

Z2 ROO® 8 ¥ L 2Rivi B ff % ]
T AR—ARHEER A
WREES A
TREXS A
BEXS A
BN Bz - hy4—1E255mm =|

$E—15 SR
299 ERE-EREE2tE h
EME 1.00[ =
nnE M E kg
&t

—Hfuhi=Y




g D—1 &

TREEET 120.0 m  Hi=Y
£ g7 H B ¥ ==X ivs B %8 &
HEHE EEIEA m3
A6t FREA m3
BT T &k m3
BT ;HL m3
&t

—Hfuhi=Y




g E—1 &
covOEER 2t 1.0 B H1=Y
£ L7 R B ¥ B{ B ) i
FERE 8H Yy bl
— A% EELF A
covo h
&t

—Hfuhi=Y




